Btz BRI A EER

TEHE

I

SHSEE FTEBZEFIRERELMKGHELIE

X MY B-ERIE. BEMARBERUNOEDOENESTHEEAHEH, FV 00— FEFOLBARILEAN
BT 1 RAAIEZIEDE L, BEEEICELLT IF=F~0RRITE] ZAHLTLTIEIL,

X [E=E~ORETE] LiE. BFT—20FE. HHVIRICHAL THFOFRICEDLLT. Fourn—F%
FoEAARITEALUNOBEIZL D 2 RMBICOHENS—VIOFTHERLET.



(

TESTEGTRSRELHKEELE BER

A 1 & = B % %
EHiETEE
1.0 = 2,755, 211
H*BE
I #&EREE
1.0] =t 119, 025
IHEERE
1.0 ] = 484, 021
I—REEESE
1.0 = 571, 743 | TEmts %1 TR & T 5 1-HiE%
Y 1,174, 789
& & (T =T E % 3,930, 000
M OB OB O£ | L% | 1.0 = 393, 000
4,323, 000

#wa s T=F B




E#EIEE EEIAR

£ b1 = B I &
EEIZEE
I B LBk E
1.0 = 2,755, 211
&t 2,755, 211




E#TEE FEHIAR

1 B LK E
A K =2 =R (v {5

1. EERE

1.0 =% 209, 752
2. BET

1.0 E2W 132, 121/
3. Bk&EBI

1.0 =% 2,413, 338

2, 755, 211




 E#EIEE PEBMAR

I B EfkeE
B B & 7 # B & B |E A ] i#
1. EERS 1. EERR 1.0 == 209, 752
Bt 209, 752
2. BET 1. #ET 1.0 = 132,121
&t 132,121
3. BikEET 1. BhKSEET 1.0 =& 2,413,338
b 2,413,338




EETHEE MERINR

1 B EBFK&E 1. EERE 1. EERS
% ¥ Bifir wE i % B K &
BERRES m2 48.3 2,080 100, 464 4 1
REFTY m 5.4 550 2,970 il 2
v MREEL—F m2 39.2 700 27, 440 i 3
MER Y b m 16.2 860 13,932 1 4
B ER A 0.4 37,500 15, 000 il 5
-3 m2 226.0 51 11,526 i 6
BEERAET m2 226.0 170 38, 420 i 7
5t 209, 752
EEIZE HBRAR |
I B EBFKEE 2. BET 1. ¥ET
- Bif HE {i % -] i &
=) vk m 60. 7 730 44, 311 X4 8
T EREE m 53.3 660 35,178 545 9
HiRSHE m 30.6 1,720 52, 632 fLifi 10
&t 132, 121




EETEE #MBERANR

1 B LKL 3. Bk&BT . BkEEBT
B W Bifsr BE i & 5 w %
FibmE m2 257.0 270 69, 390 Fe48 11
wEE— L BE m2 257.0 2,200 565, 400 Fed 12
Bk — ERiE m2 257.0 5, 260 1,351,820 oAl 13
=7 KL ﬁ 6.0 15, 000 90, 000 FeAl 14
S TRE m 60. 7 380 23, 066 FE4 15
FLSERZE (1) m 51.8 5, 290 274,022 He il 16
FILIERRE (2) Ele 4.0 9,910 39, 640 fefl 17
Bt 2,413, 338




RifiEz—%

I % # gy w B i & (an|
1 |REk RS m2 1 2,080 2,080/ Y
2 |\REFTY m i 550 550, 45 Y
3 |Ry FREES— b m2 1 700 700/ &Y
4 |mvER Y b m 1 860 860| & Y
5 |[{REhER B 1 37, 500 37,500{ & Y
6 % m2 1 51 51|5Y
7 |mEEEA T m2 1 170 170 &Y
8 |v—u s m 1 730 730| H Y
9 |7 SEAME m 1 660 660/ 4% L

| 10 |t m 1 1,720 1,720| L
i | FameE m2 1 270 210| 5 Y
12 e — FRE m2 1 2,200 | 2,200| #& L
13 [Pk — FBB m2 1 5, 260 5, 260| 5 Y
14 | L—7 Lo B 1 15, 000 15, 000| 4% L




Reffi—%

NO 2 8 4 = E .} &
15 |o—1 L TRE m 380 3801 /Y

16 |[ZLSEARBE (1) m 5, 290 5,290\ &Y

17 |[ZLSEARRE (2) - 9,910 9,910( H Y




i =*
HE: 1
2%:  REXES 1 m2 35Y
£ 5 i ® <+ i% By % 2 HIE B {f £ iH &
f=3 2B 600 * 1,700mm " 0.380 181.50 68.97
R & & B 500%1,800mm # 0.320 213.00 68.16
& 3= 1,200%1,800mm & 0.320 61.50 19.68
& W® B 3 I [240%4,000mm #*% 0.050 316.00 15.80
S vy v F R — 2 |[RFO—4250mm F 0.120 85.50 10.26
B o f F L=600F2 B 0.030 165.00 495
% T F v YU B # 0.360 450.00 162.00
2FFEHR (B K) (53 0.680 402.00 273.36
= ¥ ] BiEARER P 0.360 52.00 18.72
& L] Z {RER EH B Fl5% = 1.000 641.90 32.10
& [0 T A 0.040 28,200.00 1,128.00
% ) ith F 5 5 25% =% 1.000 1,128.00 282.00
& 5 ; 2,084.00
5. 2
A ZeF9 1 m %Y
£ ¥ i ® <t & BEl &% =2 FHIE B i ] B &
£ 1T F 3 Y # " 0.560 450.00 252.00
& i g REEE M EF5% = 1.000 252.00 12.60
& [0 T A 0.008 28,200.00 225.60
% D b 75 8 25% = 1.000 225.60 56.40
= it 546.60
%-E_,—':_ 3
B FYMNREED—k 1 m2 )
£ 73 i ® <+ % Hi| % B fHIE B Ih ] s &
* v bRKR P —F ‘ m2 1.100 61.00 67.10
23 2] =4 I E% &+ B EI5% = 1.000 67.10 3.36
& [ T A 0.018 28,200.00 507.60
F ) fth FHFEE25% N 1.000 507.60 126.90
& B 704.96




K % C
&S 4
£ ¥R IMER YR 1 m XY
% i i ® % B = FHIE B & & i B =
®2 2 3 w b [15mmBBEREAT m2 0.440 36.50 16.06
7 35 4 v b |500mmik A 0.560 24150 135.24
5 B & REBEHE 5% =% 1.000 151.30 7.57
& [0 T A 0.020 28,200.00 564.00
Z ) b 5758 25% =% 1.000 564.00 141.00
& Kk 863.87
&5 5
£ REE A E R 1 A %Y
% # % % % By 4 FHIE B & = £ B =
Ty U 4 FE B 1.000 37,526.00 37,526.00
=} B 37,526.00
= 6
£ ¥5: BE 1 m2 HU)
% 5 % % i* By 2 FHIE B & & bl W =
5 B F E B A 0.002 20,500.00 41.00
Fa ) it F B 25% =% 1.000 41.00 10.25
=1 &t 51.25
&5 7
B ¢ BEFRAGT 1 m2 %)
. g2 5 i TN % By = THE B @ & £ g =
2 £ % B8 A 0.009 14,900.00 134.10
2 ) fib 575 & 25% =% 1.000 134.10] 33.53
=) &t 167.63




£ i =

=8 8
¥ =T % 1 m %Y
% H5 i ® & =R iv = HIE fili = ] B %
%3] 7K T ’ A 0.020 29,000 580.00
% [)) [ BE25% =% 1.000 580.00 145.00
=) &t 725.00
5. 9
¥R FIVEEARBE 1 m XY
% 5 4 TN EO B 4 #WIE i} & £ B =
7 I EE XBE m 1,000 660.00 660.00
=) &t 660.00
xS 10
£ FR: BiRSEE 1 m 3
% 5 4 ® i B 2 WE i & & B =
B R £ B = m 1.000 ‘ 1,720.00 1,720.00
5 T 1,720.00
5. 11
& ¥: TFHbALEE 1 m2 HY
% 5 14 K & B = I fili ® 5 B =
T # 4 H LR m2 1.000 265.00 265.00
=} &t : 265.00
&5 12
¥ BB — BB 1 m2 5Y
% 5 % N = B B FHIE fili & ] B =
B BY—FRE m2 1.000 2,200.00 2,200.00
=) &t 2,200.00




£ il X

&= 13
- AW 5K —ERE _ 1 m2 &Y
% 5 i ® < &= B = #HIE B & & 8% i =
B kK ¥ — F &% B m2 1.000 | 1.07 4,915.00 5,259.05
=) it 5,259.05
&S 14
£ N—DFL e 1 B HY -
% £33 i ® < & B B #HIE B i & i B &
W —2JFL Y& E|6100 B 1.000 | - 15,000.00 15,000.00
=} &t : 15,000.00
&L 15
% ¥5: =L RiE 1 m HY)
% L33 i K < = B = I B i & i i 3
T — 1 v F % B RUSLav®k m 1.000 | 1.13 340.00 384.20
= &t 384.20
&5 16 :
2¥5: FILSEARRE (1) 1 m %Y
% 3 14 N ) % B4 = FHIE B & & ] B &
FILIZEAREE (1) [EH m 1.000 | 1.08 4,900.00 5,292.00
a it 5,292.00
55 17
B¥: FILSEARRE (2) 1 EAr &Y
4 # 4 ® <t i i 2 #HIE -] & ] i =
FLIEKREB (2) |[3—F— [0z 1.000 | 1.08 9,175.00 9,909.00 _
=) &t 9,909.00




	20220207092316
	工事設計書



